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Instructions :

The question paper has 36 questions in all. All questions are compulsory.

Marks are indicated against each question.

This question paper consists of two parts i.e. Part-I and Part-II. Part-I of this question paper
contains Multiple Choice Questions (MCQs) from serial number 1 to 16 of 1 mark each.
These sixteen questions of Part-I are to be answered on a separate sheet provided. This part
has to be completed in first 30 minutes only and the answer sheet must be handed over to
the invigilator before starting Part-II.

In Part-II of the question paper, there are 20 questions from serial no. 17 to 36. These questions
are to be attempted in 2 hours and 30 minutes. This part should be attempted only after the
stipulated time given for Part-I.

Questions from serial number 17 to 31 are 3 marks questions. Answer of these questions
should not exceed 80 words each.

Questions from serial number 32 to 35 are 4 marks questions. Answer of these questions
should not exceed 100 words each.

Question number 36 is a map question of 3 marks from Geography only. After completion,
attach the map inside your answer book.
An additional 15 minutes time has been allotted to read this question paper only.
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PART -1

Who among the following was a well known pioneer of mass production ?

(a) Jamshedji Tata (b) G. D. Birla

(c) Henry Ford (d) None of the above
OR

In which one of the following years did the first cotton mill on Bombay (Mumbai) come

up?

(a) 1854 (b) 1855 (c) 1862 (d) 1874
OR

Who among the following developed the principle of the garden city?

(a) Charles Booth (b) Andrew Mearns

(c) Henry Mayhew (d) Ebenezer Howard

Which one of the following groups of countries was known as the “Allies” is Europe?
(a) Britain, France and Russia (b) Britain, Germany and Russia
(c) Britain, Germany and France (d) None of the above

OR
Who among the following was usually employed by the industrialists to get new recruits?
(a) Gomastha (b) Policeman
(c) Sepoy (d) Jobber

OR

Which one of the following cities had a long history of air pollution?
(a) Mumbai (b) Calcutta (Kolkata)

() Chennai (d) Delhi

From amongst the following name of the oldest Japanese book printed in AD 868 ?
(a) Bible (b) Manuscripts
(c) Dimond Sutra (d) Sambad Kaumudi
OR
Who among the following is the author of the ‘Jungle Book’?
(a) R. L. Stevenson (b) Rudyard Kipling
() Thomas Hardy (d) Leo Tolstoy

Who among the following was not a women novelist?
(a) Jane Austen (b) Bronite Sisters
(c) George Eliot (d) None of the above
OR
Which novel among the following was not written by Premchand?
(a) Godan (b) Rangbhoomi
(c) Sewasadan (d) Pariksha Guru
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Which one of the following is not a ‘Biotic Resource’?
(a) Flora and Fauna (b) Rocks
(c) Fisheries (d) Livestock

Sariska wild life sanctuary is located in which state?
(a) Rajasthan (b) Uttar Pradesh
(c) Gujarat (d) West Bengal

Hirakund dam is built on which river?
(a) Chenab (b) Mahanadi (¢) Krishna (d) Satluj

Which one of the following is not a fibre crop?
(a) Cotton (b) Rubber (c) Jute (d) Hemp

How many times was the Belgiam constitution amended between 1970 and 1993?
(a) One (b) Two () Three (d) Four

What is the percentage of Dutch speaking people in Belgium?
(@ 59 (b) 40 (c) 60 (d) 41

Which one of the following subjects is included in the Union list?
(a) Police (b) Trade (c) Foreign Affairs (d) Commerce

In which of the following countries? the participation of women in public life is very
high?

(a) Scandinavian Countries (b) African Countries

(c) Asian Countries (d) All the above

Which one of the following criteria is the basis to measure the development of a country
according to UNDP?
(a) Per Capita Income (b) Educational levels of the people

(c) Health status of the people (d) All the above

Which one of the following is a developmental goal for industrialists?
(a) To get more days of work (b) To get better wages
(c) To get more electricity (d) All the above

Which one of the following occupations is associated with primary sector?
(a) Fishing (b) Transport
() Communication (d) Storage

Which one of the following is not a feature of the unorganised sector?
(a) Workers are exploited

(b) Rules and regulations are not followed

(c) Jobs are low paid

(d) Some formal processes and procedures are adhered to
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PART -1I

Why were Europeans attracted to Africa in the late nineteenth century? Mention any

three reasons ? 3x1=3

OR
After industrial development in England, what steps did the British government take
to prevent competition with the Indian textiles ?

OR
According to Durgacharan Ray in what three ways did the city life of Calcutta present
contrasting images of opportunities? 3x1=3

Describe any three main features of the first printed Bible? 3x1=3

OR
Mention any two main features of Jane Austen’s novels? Name any one of her novels

which depicts these features. 2+1=3

In what three ways did the printing press bring change in reading culture? 3x1=3

OR

How did the novels in India encourage nationalism, Explain any three points. 3x1=3

How did the publishers persuade the common people to welcome the printed books in
Europe?

OR
Name the first modern novel of Hindi, who wrote this novel? Explain any two

3

characteristics of this novel. 1o4+1/242=3

Highlight any three problems associated with the indiscriminate use of resources by

the human beings? 3x1=3

Explain any three factors which have led to the decline in India’s biodiversity? 3x1=3

Why have multipurpose projects and dams come under great scrutiny and opposition

in recent years? Mention any two social movements associated with these dams. 2+1=3

What were the two main causes of resentment in Belgium in 1960? How was the conflict

solved? 3x1=3

“Politics and social divisions should not be allowed to mix”. Justify the statement by

giving any three suitable arguments 3x1=3

‘Democracy is the best way to fight for recognistion and also to accomodate diversity”

support the above statement with any three arguements. 3x1=3

Explain how caste inequalities are still continuing in India?
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In what respect is the criterion for measuring development used by the UNDP different
from the one used by the world bank?

A girl from a rich urban family has some developmental goals for her. State any three
of such goals. 3x1=3

What is Gross Domestic Product’ (GDP)? Which organisation in India undertakes the
task of measuring GDP? 2+1=3

Differentiate between the public and private sectors on the basis of assets and sowices.
Give at least one example for each sector. 2+1=3

“The indentured labour gave rise to a new culture in the carribean islands” Justify this
statement with any four suitable examples. 4x1=4
OR
What measures were adopted by the producers in India to expand the market for their 4
goods in the nineteenth century?
OR
Explain any four changes that took place in the family life in the 18th century which
promoted individualism in the city life? 4x1=4

Why has Indian agriculture started a declining trend in food production? Explain any
four reason. 4x1=4

‘Federal power sharing is more effective today than it was in the early years after the
constitution come in to force? Justify the statement by analysing the situation before

and now. 2+2=4

Study the graph given below and answer the following question: 1x4=4

: GDP by Primary, Secondary and
Tertiary Sectors
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35.1 Which was the largest producing sector in 1973?
35.2 Which was the largest producing sector in 2003?
35.3 Which sector has grown the most over thirty years?
35.4 What was the GDP of India in 2003?

For blind candidates only in lieu of Q.N0.35?
Answer the following question
(a) Which sector was grown between 1973 and 2003?

Who takes up the responsibility of managing tertiary services in developing
countries?

() How does the growth in the primary and secondary sector affect the growth of
tertiary services?

(d)  Which sector employs more than half of the workers in the country?

Three features with serial number 1 to 3 are marked on the given political outline map
of India. Identify these features with the help of the following information and write
their correct names on the lines marked in the map. 3x1=3

1.  Soil type
2. National Park
3.  The leading rubber producing state
OR
Locate and label the following items with appropriate symbols on the same map.  3x1=3
(a) Tehri Dam
(b)  Periyar Tiger Reseve
(c) The largest Jute producing state

Note : The following question is for the visual impaired candidates only. in lieu of Q.
No. 36. 3x1=3

Answer the following questions.

36.1 What is the colour of the Regur Soil?
36.2 Name the state where Tehri Dam is built
36.3 Name the largest Jute producing state

-00o0-

1080716-A1




HIT - 1
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HIT - 11
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